Tableaux des Puissances de Dix (H)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

1000 10 000 100

3,4

9,02

5,89

4,81

7,19

X 1000

10 100 10 000

2,33

8,81

6,71

7,24

3,9

5 100

10 000 10 1 000

1,26

9,89

5,83

2,71

3,49

= 10 000

100 10 1 000

9,44

4,02

7,81

8,04

6,9
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Tableaux des Puissances de Dix (H) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 10 1000 10 000 100
3,4 34 3400 34 000 340
9,02 90,2 9020 90 200 902
5,89 58,9 5890 58900 589
4,81 48,1 4810 48 100 481
7,19 71,9 7190 71900 719

X 1000 10 100 10 000
2,33 2330 23,3 233 23 300
8,81 8 810 88,1 881 88 100
6,71 6710 67,1 671 67 100
7,24 7 240 72,4 724 72 400
3,9 3900 39 390 39 000

+ 100 10 000 10 1000
1,26 0,0126 0,000126 0,126 0,00126
9,89 0,0989 0,000989 0,989 0,00989
5,83 0,0583 0,000583 0,583 0,00583
2,71 0,0271 0,000271 0,271 0,00271
3,49 0,0349 0,000349 0,349 0,00349

+ 10 000 100 10 1 000
9,44 0,000944 0,0944 0,944 0,00944
4,02 0,000402 0,0402 0,402 0,00402
7,81 0,000781 0,0781 0,781 0,00781
8,04 0,000804 0,0804 0,804 0,00804
6,9 0,00069 0,069 0,69 0,0069
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